
QCCP Instructions
Rev.2019.09.27

Quick Connect Capture Plate 
Lippert Rhino Box

Part# 331723 

Instructions
1. Confirm the “A, B and C” measurements of your trailer’s king pin plate listed in the Quick Connect Capture

Plate Chart before proceeding (visit our website at www.pullrite.com for Fit Chart details).
2. While holding the Capture Plate in place up on the trailer’s king pin, tighten the 1/2” Set Screw and Spacer

Block against the king pin box.
3. To prevent the Set Screw from backing out, tighten the Flange Nut.
4. Optional -The (2) 3/8” Hex bolts are not necessary to hold the plate in place, but can be used for an extra

safety measure in case the 1/2” set screw should somehow loosen. For this measure, tighten bolts with nuts
through existing holes on both sides of the Capture Plate.

.

King Pin Box

King Pin

King Pin Box

1/2” x 1 3/4” Set Screw 
#98070132

3/8” x 1” Hex Bolt (optional)
#98010221

3/8” x 1” Hex Bolt (optional)
#98010221

Spacer Block 
#33170305

 #331723 Top and Underside Views


